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Medaljestatistik Orientering 2011

Sprint Ultralang| |Nat Mellem Stafet Lang Klub | alt Point*
Klub GSB||GSB|]|GSB||GSB|]|GSB||GSB||GSEB G S B ialt
Tisvilde Hegn OK 6122 41413 71414 612|383 212]2 5111 30| 15 [ 15 135
OK Pan Arhus 2133 6[3]1 2124 3|11]5 4111 4115 1 221 11|19 107
Silkeborg OK 111 113]5 2122 113[1 413(1 215|383 1 10] 17 [ 14 78
Sgllerad OK 1112 3[1]1 4 2 212|383 3 4 118 141 7 [12 68
OK @st Birkerad 11112 3[1 2131 4122 111 3111 14| 9 | 6 66
FIF Hillergd 2121 2111 1 1 613 1122 1133 1 711511 62
Farum OK 2(1 1 1 1111 212|383 2111 2 1 8|1 6 |38 44
OK Snab Vejle 1 2 11113 3[1 111[2 2 213]2 5] 8 |12 43
Horsens OK 3111 112 1123 2 111[1 212 51919 42
Helsinggr SOK 211 1111 1 2 118 1 3 71614 37
Odense OK 1 2 1 1 1 1 2 3111 101 1 13 35
Faaborg OK 2 2 2 2 2 1111 2 51713 32
OK 73 1 111 312]|1 1 1 3 6| 4 14 30
Herning OK 22 1 1 1 111 1 1 211 6| 4|4 30
OK Gorm Jelling 2 113 2 1 111 112 1110 3 26
OK Roskilde 1 3 112 2 111 1 1 5|1 3|5 26
Kage OK 1 111 111 111 111 51410 23
Kolding OK 1]11[1 1 1 112 111 211 11 6 16 21
Ballerup OK 1 2 1 111 111 2 11417 18
OK Melfar 1 1 111 212 31411 18
Arhus 1900 1 1 2 1 1 1 3|1 2 ]2 15
OK HTF Haderslev 1 2 2 1 1 11 318 12
OK Sorg 1 1 111 111 1 113183 12
VVendelboerne 1 1 1 111 1 2 |2 9
AKIF 1 112 1 1 1 (3 8
OK FROS Fredericia 1 1 1 1 0] 3|1 7
Mariager Fjord OK 1 1 1 1 2|0 7
OK Syd 1 2 110 ]2 5
FROS/Melfar 111 1 110 5
Svendborg OK 1 1 1 0 1 4
Viborg OK 111 1 0| 112 4
Aalborg OK 1 1 1 0|l 112 4
OK Esbjerg 1 1 0fo 3
Allergd OK 1 1 1 0] 013 3
DSR 1 0|l 11]0 2
0-63 Vordingborg 1 0 1 0 2
OK SG 1 1 0] 012 2
Allergd/Politiet/Skaermen 1 0 1 0 2
Randers/Djurs 1 0] 1 0 2
OK Skaermen 1 0 1 0 2
Haerens Officerskole 1 0] 01 1
Holbaek OK 1 0] 011 1
Nordvest OK 1 0] 01 1
OC Slagelse O[O0 ]O 0
Herlufsholm OK 0|l 0]oO 0
St. Binderup OK O[O0 ]O 0
KFIU 0|l 01O 0
Skive AMOK 0l 01O 0
Randers OK 0|l 01O 0
Svendborg/OPI O[O0 ]O 0
Odense PI 0|l 0]oO 0
OK West 0l 01O 0
OK Djurs 0] 0]O0 0
FKBU 0| 010 0

29(27|29] |28|28[28] 29]29]|27]| |32(32]33] |24]|24[23] |34]33]|34 1111 177|174 [175] 1054

*Pointberegning: Guld = 3, sglv = 2, bronze = 1




